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in pencil (pen?). Are the part g) new components numerically consistent with your plol parallc]o;,ram" Explaln
i) Find by hand the general solution of the corresponding decoupled system of DEs y —ABy +B F First

wrile these cquations out in explicit matrix form, then obtain the two equivalent scalar DEs which are its
components. Then solve them to find their general solutions using the method of undetermined coefficients. State
your general solutions in scalar form and box them: () =y, ) =, identifying the homogeneous and

particular parts of cach solution: L A p Y2 =Vap +y2P .

. . e .. . . o ar )
j) Then express the general solution for x =B y in explicit matrix form (without multiplying matrix factors) and
imposc the initial conditions using matrix methods to solve the linear systems. Write out and box the final scalar
solutions: x; (1) =..., x5 (1) =.. . Do they agree with Maple's solution from part a)? If not, look for your error. Did

you input the equations correctly?
k) E\prus the (covchl) solution as a sum of the two eigenvector modes and the response mode in the form:

b +12, b +cos(2 1) a
thus ldemlfymg the pamcular solutlon x, , (last term), the response vector coefficient ar3 and the homogeneous

solution "I (first two terms), as well as the final expressions for the two decoupled variables yl P and Yoh - Is the

response term a tandem or accordian mode? Identify the vectors a =y, ,(0) b “2 =y, ,(0) bz- Include these

vectors in your plot (together with a3) and use them to create the sidcs of the boundmg box enclosing the solution
. - - i d

with four endpoints + a, + a,

) Plot the homogeneous solution for large / to "see" the parallelogram box containing it. Is it consistent with your
plot on the grid?
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